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Minoufia University
Faculty of Commerce

Subject: Applied Statistics Second Term Exam 2012/2013
Third Year Time 2Hs

Answer the following questions:

1.- A new industrial oven has just been installed at A factory. To develop experience regarding the
oven temperature, an inspector reads the temperature at four different places inside the oven
each half hour. The first reading, taken at 8:00 A.M., was 340 degrees Fahrenheit.(Only the last
two digits are given in the following table to make the computations easier)

Time Sample 1 Sample 2 Sample 3
8.00 am 40 50 55
8.30 am 44 42 38
9.00 am 41 45 47
9.30 am 39 39 41

a)- On the basis of this initial experience, determine the control limits for the mean
temperature. Determine the grand mean. Plot the experience on a chart.
b)- Interpret the chart. Does there seem to be a time when the temperature is out of control?

2.- The claims department at W. Insurance Company believes that younger drivers have more
accidents and, therefore, should be charged higher insurance rates. Investigating a sample
of 1,200 Wise policyholders revealed the following breakdown on whether a claim had
been filed in the last three years and the age of the policyholder and whether or not the
person filed a claim? Use y° 0.05 significance level.

Age Group No Claim Claim
15—~ 170 74
25 — 240 58
40 - 400 43
55— 190 25
Total 1000 200

3.- The enroliment in the College of Business at M.University by quarter since 2008 (in Thousands)
is :

Year Winter Spring Summer Fall
2010 2.1 1.8 0.7 2.3
2011 2.2 2.1 0.8 2.4
2012 2.4 2.3 0,9 2.7

Determine the four quarterly indexes using the ratio-to-moving average method



4.- What is the relationship between the amounts spent per week on recreation and the size of
the family? Do larger families spend more on recreation? A sample of 10 families in the
C. area revealed the following figures for family size and the amount spent on recreation
per week.
Family size 3 6 5 4 3 2
Amount spent on recreation

a)- Compute the coefficient of correlation
b)- Determine the coefficient of determination.

5.- The manufacturer of a new line of ink-jet printers would like to include as part of its advertising
Vs the number of pages a user can expect from a print cartridge. A sample of 10 cartridges revealed
the following number of pages printed:

No of pages (in thousand) 1.5 —

20 — 25— 30—
Frequency

4.5— 5.0
2 5 9

4 3
a)- Develap a 95 percent confidence interval for the population mean.
b)- Using normal distribution table, what is the point estimate of the populatiom mean?

Good Luck
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FACULTY OF COMMERCE -~ , * MANAGERIAL ACCOUNTING Final Exam
o THE ‘THIRB_:YEARC"l..'l..l‘.l’.. * EXAM TIK"EE : 2 HOURS L B O
» .
}ﬁARK 5 1.5‘: MARI{S R I o S ™ . a0 T G e & toam R
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se ANSWER THE FOLLOWING QUESTIONS IN FULL :=-

Q. I For each of the following statements , state the question's No.
ONLY, and then place a (¥) or an (X) to indicate whether it is
true or fals :- .
1. In contrast to financial accounting, managerial accounting
focuses on providing data for external uses .
2e Mixed costs are also known as semi-variable costs .
s 4 A profit center is responsible for controlling its revenues ,
but it is not responsible for controlling its costs .
L A sunk cost is an avoidable cost .
5e The term " traceable cost' and " variable cost" are synonymous,
6. Future costs are always relevant in decision making .
7 Trend percentages in financial statements would be an example
of vertical analysis .
8. The acid test ratio excludes inventories from current assets .
9e Most other budgets are dependent in some way on the cash budget., -
10. A self-imposed budget is one prepared by top management and
imposed on other managerial levels .

N W N W N W RN

™

QsII Choose the right answer and prove it :-

l. ABC Co. shipped 18000 units of its products for £ 900,000 in
May, and 22000 units for £1,098,000 in June, Shipping costs for
24000 units to be shipped in July would be :

a) £1,097,560 b) £1,098,040 «¢) £1,188,000 d) £1,197,000

2 Given that cash collections from customers are £ 180,000 ,
cash disbursements are £ 250,000 , the beginning cash balance is
&£ 30,000 , and the required ending cash balance is £ 24,000 ...
The company must borrow :
a) £ 16,000 b) £ 40,000 c) £ 64,000 d) & 76,000 .

3 ABC Co. has a single product, The selling price is £100 and the
variable cost is £60 per unit. The company's fixed costs are
£400, 000 per month «.. Accordingly esee ¢

3«1 The company's break-even in sales pounds =
a) ¥+ million. b) £ 1 million. ¢) £ # million, d) £ % million .

3.2 How many units would the company have to sell to attain target

profits of £ 100,000 ?
a) £ 10,000 b) £ 12,500 c) & 15,000 d) £ 17,500 .

L. Given the following data :
Average operating assets £180,000 / Sales & 720,000 / Net operating
income £ 36,000 / C.M & 86,400 / Minimum required rate of return
‘18 % snes ﬂccordingly ase =

The company's ROI would be: a) 45% b) 30% c¢) 20% d) 10% .

The company's Residual Income would be:-

a) £ 4LEOO Db) & 3600 c) € 2800 d) £ 1800 .,

bel
Lo
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Q.II1 (a) ABC Company produces two products from a common input.

Q.IV

Data relating to the two products are given below :

(A) (B)
Sales value at the split-off point & 6oooo £ 120000
Allocated Jjoint product costs 45000 90000
Sales value after further processing 90000 200000
Cost of further processing 20000 85000

Determine which of the products should be sold at the
split~off point, and which should be processed further
before sale ?
tb) XYZ Company produces and sells a single product.Expected
sales for the next four months are given below :
April May June July
Sales in units 10,000 12,000 15,000 9,000

The company needs a production budget for the second quarter,
Experience indicates that end-of-month inventories should
equal 10 percent of the following month's sales in units, At
the end of March, 1,000 units were on hand .

Prepare the production budget .

(a) AL-Nasr Company's working capital is & 36,000 and its
current liabilities are = 61,000, The company's current
ratio is closest to:=-

1) 2,69 to 1 (2) 0.4 to 1 (3) 0.59 to 1l (4) 1.59 to 1

{b) Hope Co., has the following data for the year just ended.

CAaBIL v v v vioov main s s s e+ weiaeEss svee 227

Accounts Receivable eccesscccccsnsacscee & 28’000

Inventory R R N o R A O O I I R B A ) £35’OOO

Current Ratio Se R e PRI EB RSB EREEERRSEERSSE 2-"-} to 1

ACid test Ratio PP BB B S IR A IR e O ES ll6 to 1
The company's current liabilities were :

1) £ 43,750 (2) & S0,400 (3) & 35,000 (4) £ 63,000

A1l the best ,
Prof., Dr. R.A.Radwan
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Faculty of Commerce, Spring Semester. 2013
Accounting Department, English Section. Time: TWO Hours.
Cost Accounting 2 Final Exam, (course code: 2306 ). 2013, 3™ Year Students.
Answer the following questions & indicate the necessary calculativons

Question 1: (6 Marks )

(A) Following are three (3) investments projects and their estimated investments & cash inflows :

Project 1 Project 2 Project 3
Initial investment : $ 350,000 200,000 250,000
Annual net cash inflow: (in $) ’
Year | 150,000 100,000 80,000
Year 2 150,000 100,000 90,000
Year 3 200,000 100,000 70,000

Required: What is the payback period for each project? And what is your advice for the best project NPV analysis,
Additional data; 1.the present value of ordinary annuity for one pound at 10% for 1 year is; 0.90 |, for 2 years
is; 0.70 ,for 3 years is, 0.80.
- the present value of annuity “equal cash inflows” for one pound at 10% for 3 year is; 1.500.

(B) Farah’s Textile Company sells two types of kids’ shirts Small (S) & midum (M) size. The average selling an
price and variable cost for each product are as follows:

S) M
Selling Price $28 $24
Variable Cost $21 $16
Sales mix 60% 40% * Total Fixed costs are  $38,400.

Required: What is the total sales required of each type of shirts to achieve Net Income of $ 120,000?

Question 2: (4 Marks)

Marwa’s Corporation budgeted the following costs for the production of its one and only product for the
next fiscal year:

Direct materials ' $ 562,500
Direct labor _ 390,000
Manufacturing overhead
Variable -’ 420,000
Fixed 322,500
Selling and administrative
Variable 180,000 ™
Fixed | 240,000

Total costs
The company has an annual target operating income of $450,000.
Required: 1. What is the markup percentage for setting prices as a percentage of;,
A. total manufacturing costs. B. variable manufacturing costs. C. the full cost of the produtc.
2. If this is the total costs of producing one product, what is the total costs of 20 units.of this produgt

to be continue on the next page.

A



Question 3: (5 Marks ) _

HANI’s Company has TWO operating departments, Assembly & finishing, and also has THREE service
(support) departments, human resources (HR), Financial (F), & Security (S). Following is the information
obtained from the cost accounting records by the end of February, 2013: (figures are in L.E.).

Operating Departments Services (support) Departments

assembly | finishing Hr financial security
Budgeted costs 60,000 75,000 30,000 25,000 20,000
Direct working hours 5,000 5,000 2,000 1,500 1,500
Number of staff 120 130 30 50 20
Square feet 12,000 8,000 3,000 5,000 2,000
Machine—working-hours | 10,000 8,000 ¥, - -

Required:

1.Using the step-down method, what amount of each of the services (support) departments’ costs will

be allocated to the operating Departments? assumning that all support departments’ costs are allocated

on the basis of the direct-working- hours starting with the human resources (Hr) department.

2.Compute the overhead allocation rate per machine—working-hour for each of the operating departments.
end of the questions.

Dr Mahmoud Abdef% --

-~ GOOD LUCK




Final Term Exam

Faculty of Commerce The Level : The Third Year

Economic Department - English Language Section
The Course : Public Finance
Time : 2 Hours

The Date _: 3/6/2013

Answer the Following Question:
Q1: Explain Why the Following Statements are True or False:

1- A free market usually works well for consumers because of cooperation
2- Producing a given quantity of a good at minimum cost is called distributive efficiency.

3- Assume there is no externality The inefficiency from the subsidy equals the area of a
triangle to the right of the intersection of the original D and S curves.

4- If a consumer doesn’t pay for a TV the consumer doesn’t get it. Hence, the TV isa
public good.

5- With many families, the government should assign each family a tax price that makes
the family prefer the social optimum.

Q2: a - What is the socially optimal quantity of a public good? Explain using a diagram.

B — How the government achieve a balance between the two sides of economy (the
real and monetary side)?

Q3: Use the tax table to compute your Income tax to your income, if your Taxable
Income equal (17000083).

S0 to $16,000
Over $16,000 to $65,000 15%
Over $65,000 to $131,000 20%
Over $131,000 to $200,000 : 25%
Over $200,000 to $357,000 30%
Over $357,000 35%

Best wishes,
Dr. Ahlam Morsy



Menoufia University

Faculty of Commerce

Business Administration Dept.
English Section, 3" Year Students
2" Term, Final Exam. 2013.
Time: Only (2) Hours.

Course: Essentials of Negotiation
A. Prof. Dr. Amgad Hamed Omara

Answer the following two questions:

Question: (1) (7.5 Marks)

The effective output of the negotiation process is a function in the pre-existence of too many
conditions, herein we consider two:

e One is the capability to diagnose the sort and/or nature of the problematic issue
around which the negotiation process is hub-revolving.

s  The other is the capability of the negotiation team leader to apply the leadership type
rotation that does allow a big room of soft mobility between democracy and
autocracy.

Select and then highlight only one of the above mentioned two conditions?
Question: (2) (7.5 Marks)
Discuss in detail just one of the following three topics:

e  Strategy and tactics of integrative negotiation?
e  Perception, cognition and emotions in negotiation?

e Ethics governing the whole negotiation process?

Best wishes



Menoufia University May Exam 2013
Faculty of Commerce 3%Year
Accounting Department Course: Govern.& Intern. Accounting
(The English Section) Number of pages: 3 pages
Exam date: 10/ 6 /2013 Exam time: 2 hours

First Question: (2 Marks)
The following are ledger account balances for Ashmoun Town General Fund on Jun 30,
2012, the end of the fiscal year:

Appropriations $760,000
Encumbrances 5,000

Estimated revenues 800,000
Expenditures ' 750,000
Fund balance reserved for encumbrances 5,000
Revenues 808,000

Required : Prepare closing entries for Ashmoun Town General Fund , on Jun 30, 2012

Second Question: (5 Marks)
Assume that the Town of Menouf General Fund had the following transactions and

events for the fiscal year ended Jun 30, 2012:

1. Property taxes were billed in the amount of $1,250,000 of which $65,000 was of
doubtful collectability.

2. Property taxes collected in cash totalled $990,000; revenues from licenses and
permits fees collected totalled $200,000.

3. Property taxes in the amount of $60,000 were determined to be uncollectible:

4. Expenditures for the year totalled $1,100,000, of which $200,000 applied to
additions to inventory of supplies.

5. Billing for services and supplies received from the Enterprise Fund and Internal
Service Fund totalled $110,000 and $95,000, respectively.

6., Cash payments on vouchers payable totalled $850,000, cash payments to the
Enterprise Fund and the Internal Service Fund were $8_£J,000 and $35,000,
respectively.

Instructions: Prepare journal entries to the foregoing transactions and events for the

Town of Menouf General Fund during the year ended Jun 30, 2012,
Please ............. See page 2



Third Question: (5 Marks)

On January 2, 2011, Repeal Corporation, a U.S. multinational enterprise, acquired all
the outstanding common stock of Soha Company, which is located in a country whose
currency is the locuro (LC). The locuro is the functional currency of Soha. For 2011,

exchange rates for the locuro were as the following:

Jan. 2 LCl1= $1.20
Dec. 31 LC1= $1.40
Average for the year LCl1= $1.30

The financial statements of Soha Company in LC

Income Statement

Net sales LC 100,000
Costs and expenses 80,000
Net income 20,000
Statement of Retained Earnings
Retained earnings, beginning of year 80,000
Net income 20,000
Subtotal 100,000
Dividends declared 10,000"
Retained earnings, end of year | 90,000
Balance Sheet
Assets
Current assets 130,000
Plant assets (net) 820,000

Total assets 950,000

Liabilities & Stockholders’ Equity

Current liabilities 60,000
Long-term debt - 340,000
Common stock 200,000
Additional paid-in capital 260,000

90,000

Retained earnings

Total liabilities & stockholders’ equity 950,000
* Dividends were paid on Dec. 31, 2011

Required : Translate the financial statements of Soha Company to U.S. dollars from

locuros (LC), by using current rat method. PIBARE oo vaioiniina See page 3



Fourth Question: (3 Marks)

On November 18, 2012, when the selling spot rate for a foreign country's local
currency unit (LCU) was LCU1 = $0.18, Usc Company acquired a 30-day forward
contract for LCU100,000 at the forward rate of LCU1 = $0.21. The contract was not
designated as a hedge. On November 30, 2012, the end of the accounting period, the
12-day forward rate for the LCU was LCU1 = $0.22. On December 18, 2012, when
Usc paid the forward contract and received the LCUs, the selling spot rate was LCU1
= $0.23. The appropriate discount rate is 6%.

Required : Prepare journal entries for Usc Company on November 18 and 30 and
December 18, 2012.

Best wishes.
Dr. H. Elsharawy
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